[ Efficiency vs vertpos |

~ 0.5

YT S S A— 3 B—
2 : : :

> 0.4_"""""E """""" l' """""" E"“" """"
(8] . . .

50,35 - eeedereneeees e 2 SIS
T SRRSO SR b o
P RSSSSRR R ARSI 2 -
) — R ASSRRSRN & 1 Y
UL SSRTOSORN SR SRS 1 -

ICI
TTTT

effi

0.1
0.05

n

0

Ratio
=

+i.+..l L i
Lo P SO S (s 1 DA,
+

1072 107

1

10 0?
TP vertr (cr%)

—=— DQM_TT_time_newbranch

Efficien —— DQM_TT_newbranch_time_pLess

~ 0.1

C0.09F -+t
%) . .
20.08F e peeeened
> . H
2 : :
G007t
3 : :
£0.06f - -r-ee o
o : :
0.05F++--wireeeend
0.04F -+-erbersenend
0.03[ -+ beeemees ;
0.02F+++++eieeeeeien
0.01F -+~ §

.

Ratio

osf------- PR :

0.6f------- Beeeenes :

qgiLL?ﬂilf”

-30 -20 -10 0

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

N 0.2
>
8018
£
50.16
20.14
oy
20.12
0.1
0.08
0.06
0.04

0.02

...............................

................................................

................................................

i

efficie
| '
mlll.””!”_llll + * II
N

15 20
Sim. PV z (cm)




	Contents
	Page 1


